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University of Basrah
College of Administration &Economics
Department of Accounting
Second Course Exam-Moring&Evening Studies

= : (Second Attempt)
P s 20232024
Subject: English Stage: First Time : 2 hours Date: 7/13

Note: Answer Five questions only (10 degrees for each one).

Q1. From the story of Babur Ali, Choose the correct answer form the choice from each
question:

1.How old 1s Babour Ali?

a.14 b.16 c.18

2.How far is Babur's school from his village?

a.1 miles c.2 mile c.3 miles

3. What time does Babur start his teaching classes in the evening?
a.5 o’clock b.6 0’clock c.7 o’clock

4. How many students are there at Babur's school now?

a.300 poan: c.650

5. How many teachers work at Babur's school?

a.5 b.8 c.10

Q2. Complete the sentences with Adverbs of frequency:

o rises from the East.

Tl i carry my cellphone with my right hand.

R GBI eaten my lunch in the house with my family.
4 We L5 e go to college for study on public holiday’s.
Tl BN i buy the fruits and vegetables from the market.

Q3. What time is it, Write the number:
It's seven o’clogk: *

[t’s quarter past nine.

It’s five to five.

It’s twenty-five to ten

[t’s two to two.

B W oo =
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University of Basrah
College of Administration &Economics
Department of Accounting
Second Course Exam-Moring&Evening Studices
(Second Attempt)
2023-2024

Stage: First Time : 2 hours  Date: 7/13

{)4 Choose the correct form to complete the sentences below:
IRwandIra.......... watched Avengers Endgame.

e .. ......... grown very big.

S After Alex... ....... to work, Jonathan ....... to school.

4 They'll have enough money to ...... comfortably.

.. ... his friends to call him Hank.

Word bank: live, has, goes, have, likes.

Q5. Choose The Right Possessive Adjective (his-her-its-my-your-our-their):
Ann and Nadia go to a high school ......... little brother goes to a primary school.
Alanhasavan............. van is very old.

(@S] l\) —

We go to a high school ....... high school is fantastic.

I like singing ... mother sings with me.
Francois and Alain are French.......... family is from France.

AR

Q6. Read the following sentences given below and identify the type of the present tense:
I have finished all my chores.

It rains almost every day in October.

My uncle is arriving today.

He has hurt his knee.

The workers have been building the tower for several months.

R

Best' Wishes

_4_—% Vi ;7;5
L

ecturer Head of Departmertt
Dr. Amjad S.Abdulali Dr.Elham Al Shawi
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Un{versity of:iBlgSra Final-Exam SUB: Reading

College of Economic and 2023-2024 Class: first

Administration

Second semester Date: / /2024

Accounting Department

Q1/ Choose the correct answer ( 20 mark)
1-Which of the following will cause owner equity to increase ( Expenses , Owners Draws , Revenue)
2- The accounting Equation should remain in Balance because every transaction effects How many accounts
( onlyone ,only two , two or more)

3- the company purchases Equipment with cash

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect

4- the company purchases land by paying half in cash and signing a Not payable for the other half

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect

5- the Owners contributes his personal truck to business.

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Décrease No Effect

6- Ali company paid ID 150000 ( 50000 cash and 100000 as A/p to the supplies the entry will be
From\ A\P 150000 From\A\P 1500000 From\ A\R 150000
To\ cash 50000 To\ cash 150000 To\cash 50000

N\P 100000 N\R 100000




ity
W

7- X company paid employees' salaries

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect

8- X company collected 155000 from customers

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect

9- X company paid cash dividends

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect

10- X company provide services cash at 1D60000

Assets increase Decrease No Effect
Liabilities increase Decrease No Effect
Owner Equity increase Decrease No Effect
Q2\Answer with True or False for the following ( 10 marks)

1- liabilities of company would include ( N\P)

2- External users of financial statement include ( Lender, Government, Investors)
3- The income statement is the output of Accounting

4- The Matching is one of Accounting Principles

5-Ali A\C is defined as personal accounts

6- Intangible Accounts are Classify as Real Accounts

7- Inputs Accounting are business transactions

8- Natural Account is classify as NOMINAL A\C

9-cost accountant would be considered as Internal user of Accounting Data

10- Accounting Communicates financial information about a business enterprise to both internal and External




Q3\\ Draw the Flowchart of Accounting as system ( 10 marks)

Q4\\ The ledger accounts of the Al Forat at June 30,2022 are shown below : (10 marks)

Name of account Amount
Accounts Payable 6,100
Accounts Receivable 1,050
Building 51,400
Common stock 63,100
Cash 12,000
Exercise Equipment 18,900
Weight Equipment 22,000
Notes Payable 49,000
Office Supplies 350
Office Equipment . 2,000
Dividends 10,500

Instruchons

Prepare 2 trai balance with the ledger accounts arranged in the proper financial statement order include the
appropriste headimg

Q 5\\ Jowrnalze the following'transactions in a Al Rahman books for the month July 2015(Am'6-unt iniD
000)

July 1 pusrchases merchandise for ID1000000 on credit from Yousif Company.

3 Sold meschandise on account to Al Moroge company for D400000 with trade discount 5% and terms 2/10
n/30.

7 R=tumes merchandise worth 1D100000 from the purchases on July 7.

£ Solf merchandise o Al Madena company for ID500000 and paid transportation for this merchandise worth




ID50000 add this amount to the invoice.
9 Al Madena Company returned damage merchandise worth ID100000
10 Received all amount from al Moroge Co.

12 paid all amount to Al Yousief Company cash.

18 purchases merchandise on account from al Nahreen Company for ID1500000 with trade discount 10%
and terms 2/10, N/30.

20 Returned damage merchandise to al Nahreen company For 1D350000.

25 Al Madena company paid all amount cash.

27 purchases merchandise for ID250000 cash.

28 paid all amount to Al Nahren company cash.

30 sold merchandise on account to Al Njoom Company for ID750000

. ( 10 marks)
Dean Head of Dep. E;g\}rer

/)

P S\ L —_—
Dr. Abdul Hussein Tewfik Dr. Elham jaafer Hamid Dr. Fatima jasim Maraw Nbel
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Date- Final Exam collage
7 2023-2024 Accounting Department

First Semester Second Class

Note\ Answer four questions, with the first being among them

Q1. Mulfiple Choices: Choose the correct answer and show the computations if any (20 Marks).

1. If the company Paid $200,000 cash for expenses that’s will
a. Decrease Assets by $200,000, decrease owner's equity by $200,000.

b. Decrease Assets by $200,000, decrease liabilities by $200,000.
c. Increase Assets by $200,000, decrease owner's equity by $200,000.
d. Increase Assets by $200,000 and increase Liabilities by $200,000.

2. On July 1 the Fisher Shoe Store paid $24,000 to Acme Realty for 6 months rent beginning July 1. Prepaid
Rent was debited for the full amount. If financial statements are prepared on July 31, the adjusting entry
to be made by the Fisher Shoe Store is:

a. debit Rent Exp.ense, $24,000; credit Prepaid Rent, $24,000.

b. debit Prepaid Rent, $24,000; credit Rent Expense, $24,000.

c. debit Rent Expense, $4,000; credit Prepaid Rent, $4.000.

d. debit Prepaid Rent, $4,000; credit Rent Expense, $4,000.

3-The Harris Company purchased equipment for $15,000 on December 1. It is estimated that annual
depreciation on the computer will be $3,000. If financial statements are to be prepared on December 31, the
company should make the following adjﬁsting entry:

a. debit Depreciation Expense, $3,000; credit Accumulated Depreciation, SS,OO/O./“

b. debit Depreciation Expense, $250; credit Accumulated Depreciation, 5250/)/

c. debit Depreciation Expense, $12,000; credit Accumulated Depreciation, $12,000:

d. debit Equipment, $15,000; credit Accumulated Depreciation, $15,000.

4.Al-Salamy company purchases goods on account for $6000, then
a. Assets and liabilities both decrease by $6000. b. Stockholders' equity increases by $6000.

c. Assets increase by $6000 and liabilities decrease by $6000. d. Assets and liabilities both increase by $6000.

5

5. One of the following is not an asset: a. Inventory. b. Equipment. c. Building d. Notes Payable.

6. On November 1, Duane paid $13,500 in advance for a year's rent. The November 30 adjusting entry for
rent expense should include a ;

A. debit Rent Expense, $13,500 B. debit Rent Expense, $1,125
C. credit Prepaid Rent Expense, $13,50 D. credit Cash, $1,125

7- Assets of a company would not include

a. Accounts payable.  b. Accounts receivable.  c. Inventory. d. Cash
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First Semester Second Class

8-A credit sale of $750 is made on June 13, terms 2/10, N/30. A return of $50 is granted on June 16.
The amount received as payment in full on June 23 is.
a. $700. b. $686. c. $685. d. $650

9-Al Alaa company purchased a computer for ID2,400 on December 1.it is estimated that annual
depreciation on the computer will be ID480. If financial statements are to be prepared on December 31, the

company should make the following adjlvl‘sting entry.-
a. Debit depreciation Expense, ID480; credit accumulated Depreciation ID480.

b. Debit depreciation Expense, ID40; credit accumulated Depreciation 1ID40,

c. Debit depreciation Expense ID1920; credit accumulated Depreciation ID1920 A )) 5

d. Debit office equipment, ID2400; credit accumulated Depreciation ID2400 X ; i'(’:‘ Q)
10-Company FF accumulates the following adjustment data at December 31. "(:\
Revenue of ID800 collected in advance has been earned .the adjusting entry .- i@ 2

a. Debit cash, ID 800; credit unearned revenue ID 800.
b. Debit revenue, ID 800 ; credit unearned revenue ID 800.
c. Debit unearned revenue ID 800; credit revenue ID S800.

d. Another answer

Q2Z\AT Sea Company a service company provide service to customer, prepare the journal entries for the
fransactions below. (10 Marks).

a. purchased supplies cash for ID2000
b. paid wages to employee for the month for ID5000
7~ :

\ B T .
- Revenue from services performed during the month totaled ID9000. -
- d. a contract was signed with a newspaper for a ID250 advertisement but the amount not paid until next

month.

= purchased merchandise for ID12500 of this amount ID12000 paid and the balance expected to pay within

Sdays.

—

= 253 ID500 cash for net expenses
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(g«pron’de service foe ID7500 of this amount received ID5000 and the balance will received within fo days.
/Kpurchag-d equipment for ID3000 cash. i. paid 1\*911t fqr tl}c 111(331th worth ;DZOOO.
__J- provide services for IDS800O cash |

b. paid wages to §1llployee for tl_le month fqr ID5000

Q3\amount in 000) When the accountant review the records he discover the wrong entries below:

(10 Marks).

[

- An amount of ID325 record as ID532 for purchases merchandise on account
2. received note receivable from customer debited to note payable for ID500.
2> the honors withdraw cash for ID200 debited to cash and credited to withdraw

4. sold merchandise for ID1000 on credit with trade d’t/s'goun_t 10% on account debited to cash discount for

ID100 and ID900 account receivable and ctedited to sales for IDI000 - -
“ ' R e
A

5. sold machines for ID1800 cash credited to sales.

6. sales returns for ID100 from customer who purchase the merchandise on account credited to sales and
debited to cash. gD e '
/7 i 1:eceived cash from custom\er fqr ID%OO credited to account payable.
/S. purchases equipment cash for 5000 debited to equipment fql‘ ID500 and crcdited to casll ID500
//9. purchased land for ID20000 ca;h debited to p}u*chases account.
¢ 10. paid wages to employee for ID3000 has been posted twice to wages expenses.

Require_cL pass journal entries to rectify the above errors using short method.

Q4\Prepare an income statement, a statement of retained earnings, and a balance sheet for the Norma's

practice of Ali Huseen, from the items listed below for the month of September, 2006. (Amount in 000) .

(10 Marks).

Retained Earnings ID40,000
Common Stock 2,000
Account payable 7,000
Equipment : 30,000
Service revenue 25,000
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Dividends : 1
Norma' s supplies expense 3.500

Cash 8,000

Utilities expense 700

Dental supplies 2800

Salaries expense 7000
Accounts receivable 14000

Rent expense 2000

Q5\: (All amount in million) Al star company show a balance of ID 7699 and balance per bank of ID 10240

On June 30,suppose furtherer that by applying the procedures described above we find the following

differences :

(10 Marks).

a- cheque No 5483 for ID 1900 dated June 27 deposited on June 30 has not been collec ted.

b- Cheques issued and recorded by al star company but not yet presented to the bank for' payment are as

follows:

Cheques No date Amount :
2108 25\5 1291 |
2110 29\5 617
2113 1\6 407 |
2116 4\6 96

2118 11\6 1098

C-credit advice states that the bank collected a Note receivable for ID 900 together with interest ID of 12.

d- Cheque No 2112 for 5481 was recorded in the company's record in correctly as ID 5544

e- credit advice states that the bank credited interest of ID87.

f-A debit advice states that the bank Levied quarterly service charge of ID130

Require: prepare the bank reconciliation for Al star company on June 30,

.P.D Elham .J. Hameed P.D Fa&a j- Mohmmed

4.

A.L. Hanan S. Mahdi
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QI:A/ A company produces 3 products on A,B,C. The following table summarizes the data
of the problem:

Products

1 2 3 Maximum daily
availability

Minutes A (0.5 2 1 40
per unite

B |3 2 0.5 |30

C 1025 |4 2 25

Unite profit 20S |30$8 |10$

Formulate the problem as an linear programming model.
B/ Formulate the duality L.P. model
Max Z= 88X, -X, + 4X,

S.t
X] +X2 -3X3 =25
X1—X,<45

Xi-Xp+X;>12

X1,X5 >0;X,: unrestricted

Q3/ Solve the following linear programming by Simplex method
Max Z= X+ 2X,

% |

X1+ 2x,25

X, +X, <4

X1, X520
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Q3/ Solve the following transportation problem by North-west corner
LYorin-west corner

Demand center

7B D2 D3 D4
) 2] :[L EN :L 150
T ET
o 2 ] L '2\1 IL 120

12ro 7(; 11.0 xso

Q4/Solve the following linear programing problem by Graphical method
Max Z =x, + 3X,
S.T. 3X| + 4X2 <12
Xij .?.Xz <4
XlS 2
X1 X9 = 0

Q5/ Find the optimum solution of A player for the following game matrix

 IBi B2 B3
Al 2 3 -6
A2 |9 7 =
A3 10 8 =5
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Note\ Answer Sowr guestions. with the first being among them
Q1. Muliiple Chosces. Choose the correct answer and show the computations if any (20 Marks).
1. [ the company Paid $200.000 cash for expenses that’s will
a Decsease Assefs by $200,000, decrease owner's equity by $200,000.
b}nm Assets by $200,000, decrease liabilities by $200,000.
¢ Imcrease Assefs by $200,000, decrease owner's equity by $200,000.
& Imcrease Assets by $200,000 and increase Liabilities by $200,000.
Z  On July 1 the Fisher Shoe Store paid $24,000 to Acme Realty for 6 months rent beginning July 1. Prepaid
Rent was debited for the full amount. If financial statements are prepared on July 31, the adjusting enfry
0 be made by the Fisher Shoe Store is.
a cebif Rent Expense, $24,000; credit Prepaid Rent, $24,000.
b debit Prepaid Rent, $24,000; credit Rent Expense, $24,000.
c. debit Rent Expense, $4,000; credit Prepaid Rent, $4,000.
d. debif Prepaid Rent, $4,000; credit Rent Expense, $4,000.

3-The Harris Company purchased equipment for $15, OOO on December 1. It is estimated that annual
depreciation on the computer will be ’Wf financ1al statements are to be prepared on December 31, the
company should make the following adjusting entry.
/ @& debit Depreciation Expense, $3,000; credit Accumulated Depreciation, $3,000.
;‘/ bl debit Depreciation Expense, $250; credit Accumulated Depreciation, $250.
cidebit Depreciation Expense, $12,000; credit Accumulated Depreciation, $12,000.

((1 jdebif Equipment, $15,000; credit Accumulated Depreciation, $15,000..

L

L‘

4 Al-Salamy company purchases goods on account for $6000, then
'," a. Assefs and liabilities both decrease by $6000. b. Stockholders' equity increases by $6000.

C. Assets increase by $6000 and liabilities decrease by $6000. d. Assets and liabilities both increase by $6000.

S.ngne of the following is not an asset:
|

6. On November 1, Duane paid $13,500 in advance for a year's rent. The November 30 adjusting entry for

“rent expense should include a -

a. Inventory. b. Equipment. c. Building d. Notes Payable.

@. debit Rent Expense, $13,500

B. debit Rent Expense, $1,125

4C. credit Prepaid Rent Expense, $13,50

D. credit Cash, $1,125
7- Assets of a company would not include

a. Accounts payable.  b. Accounts receivable.

c. Invenfory. d. Cash
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8-A credit sale of $750 is made on June 13, terms 2/10, N/30. A return of $50 is granted on June 16
/'1;'116 amount received as payment in full on June 23 is.

a. §700. b. $686. c. $635. d.

8]

650

o

9-Al Alaa company purchased a computer for ID2,400 on December 1.i is estimated that annual
depreciation on the computer will be ID480. If financial statements are to be prepared on December 31, the
company should make the following adjusting eniry.—

a. Debit depreciation Expense, ID480; credit accumulated Depreciation ID480.
b. Debit depreciation Expense, ID40; credit accumulated Depreciation ID40,

c. Debit depreciation Expense ID1920; credit accumulated Depreciation ID1920
d. Debit office equipment, ID2400; credit accumulated Depreciation ID2400
10-Company FF accumulates the following adjustment data at December 31.
Revenue of ID800 collected in advance has been carned .the adjusting entry .-
a. Debit cash, ID 800; credit unearned revenue ID 800.

b. Debit revenue, ID 800 ; credit unearned revenue ID 800.

c. Debit unearned revenue ID 800; credit revenue ID 800.

d. Another answer

Q2\AT Sea Company a service company provide service to customer, prepare the journal entries for the
25 i
fransactions below. (10 Marks).

a. purchased supplies cash for ID2000
b. paid \Qages to employee for the month for ID5000
¢. Revenue from services performed during the month totaled ID900O. -4

d. a contract was signed with a newspaper for a ID250 advertisement but the amount not paid until next
month.

e. purchased merchandise for ID12500 of this amount ID12000 paid and the balance expected to pay within
30days.

f. paid ID500 cash for net expenses
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g. provide service foe ID7500 of this amoun} received ID5000 and the balance will received within to days.

h. purchased equipment for IDoOOO cash 1. pald rent for the month worth ID2000.
—— n— i ——

— s o iy,

j- provide services for ID800O cash

b. paidr wages to employee for the month fqr ID5000 |

Q3\amount in 000) When the accountant review the records he discover the wrong eniries below:
(10 Marks).

1 An amount of ID325 record as ID532 for purchases merchandise on account

_'-M
received note receivable from customer debited to note payable for ID500.

1e honors withdraw cash for ID200 debited to cash and credited to withdraw

/\' T

4 sold merchandise for ID1000 on credit with trade dtse//ount 10munt debited to cash

R .
ID100 and ID900 account receivable and credited to sales for ID1000 S
T et

Q sold machines for ID 1 800 cash credited to sales.

6 sales returns f01 1D100 from customer who purchase the merchandise on account credited to sales and
dcbltcd to cash.

@ received cash from customer for ID400 credited to account payable.

8. purchases equipment cash for 5000 debited to equipment for ID500 and credited to cash ID500
P
9. purchased land for ID20000 cash debited to purchases account.

/ 10. paid wages to employee for ID3000 has been posted twice to wages eXpenses.

Required: pass journal entries to rectify the above errors using short method.

Q4\Prepare an income statement, a statement of refained earnings, and a balance sheet for the Norma's

practice of Ali Huseen, from "he iterus listed below for the month of September, 2006. (Armount in 000) .
(10 Marks).

TRetained Earnings 1D40,000
Common Stock 2,000
Account payable 7,000
Equipment 30,000
Service revenue 25,000 7 J
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Dividends ,

Norma' s supplies expense 3.500

Cash 8,000

Utilities expense 700

Dental supplies 2800

Salaries expense 7000

Accounts receivable 14000

Rent expense 2000

Q5\: (All amount in million) Al star company show a balance of ID 7699 and balance per bank of ID 10240

On June 30,suppose furtherer that by applying the procedures described above we find the following
differences : (10 Marks).

a- cheque No 5483 for ID 1900 dated June 27 deposited on June 30 has not been collec ted.

b- Cheques issued and recorded by al star company but not yet presented to the bank for payment are as

follows:

Cheques No date Amount
2108 25\5 1291
2110 29\5 617
2113 1\6 407

| 2116 4\6 96

| 2118 11\6 1098

C-credit advice states that the bank collected a Note receivable for ID 900 together with interest ID of 12.
d- Cheque No 2112 for 5481 was recorded in the company's record in correctly as ID 5544

e- credit advice states that the bank credited interest of ID87.

f-A debit advice states that the bank Levied quarterly service charge of ID130

Require: prepare the bank reconciliation for Al star company on June 30,

s
A.P.D Elham .J. Hameed  P.D Fatima j. Mohmmed

A.L. Hanan S. Mahdi
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Economic &

Subject:ifjﬁnancial Analysis lim\'a4l E’f?:_ \ Administrative collage

= 5
Date: / /202 First semester ~:‘_‘i:3/ Accounting Department
Time: 2 hours Type (B) g Third Class

Note: Answer Four Questions Only (C%c\f AuesYioy V25 f\l\(\v\iax

Q1: The following information is related to Palai Ltd.

Particular 2015 2016
Current assets 100,000 80,000
Non-current assets 300,000 360,000
Shareholders’ funds 250,000 275,000
Current liabilities 50,000 40,000
Non-current liabilities 100,000 125,000

Instructions: Prepare balance sheet showing a vertical analysis for Palai Ltd.( 10 marks)
Q2/The following are income statement and the comparative balance sheets at the
beginning and the ending of 2018 for Anssam's Co.:

Revenues 100000, Operating expenses 70000, Income before income tax 30000,

Income tax expense 10,000, Netincome 20,000

Comparative Balance Sheet as December 31, 2017 and 2018

Particulars 1/1/2018 31/12/2018
ASSETS

L et T R RO 10,000 25,000
Accounts receivable............cccoooeeinl 8,000 13,000
Notes receivable...........cccooceeeieiiiii 2,000 1,000
Computer equipment....................... 5,000 14,000
e N RN W oV W AN 25,000 53,000
Liabilities and stockholders equity Accounts

L S R R 6000 A 10,000
L R 4,000 3,000
BEEEIEEIEDLS .........ococovvvvnnvensiorssonsnes 6,000 15,000
Owners’ equity..........cccceeeeeeeeeneeeneeieneens 9,000 25,000
B L Lkt dn B sions i 25,000 53,000

Additional information:

1) New computer equipment was purchased at the end of 2018, no depreciation.

2) The owner drew $4,000 during the year.

3) No additional investments by the owner.

4) The increase in long term debt is the issuance of bonds.

Instructions :Prepare cash flows statement for the year ended December 31, 2018 by using
Indirect Method And compute a cash flow ratio.(10 marks)

Q3/A/ The following balances appeared in the records of an industrial company:

Total Assets $3,000; Total liabilities $1,800; Sales $4,000; Cash Assets $800; Current
Liabilities $1200; Shareholders' Equity $2,000; Net profit after tax $150.

Instructions :Prepare an analytical study of these data by using the KIDA model to determine
the extent of the entity's ability to continue.(6 marks)




Q3/Bl The following information is related about questions((choice the correct answer))
sales $500,000; profit pefore interest and tax 120,000; tax expense 20,000; current assets
160,000; fixed assets 240,000; current liabilities 60,000; inventory at 1/1 $50,000; purchases
80,000; inventory at 31/12 $40,000. (4 marks )

1_The net working capital will be/ a. $400,000 b. $240,000 ¢. $100,000 d. (100,000)

2 The net profit ratio will be/ a.:0.20 b. 0.24 c.0.28 d.0.32

3. The inventory turnover ratio will be/ a. 3.77 times b 4times C.3 time d. 2 times
4. The current ratio will be / a8, 260 b. 3.66 ¢, 2.56 d..3.56
Q4! The following information is related to Mc. Co.

Particular 2015 2016 : 2017
Revenue from operations 100 120 160
Other income 20 24 20
Expenses 20 14 40
Income tax 30% 30% 30%

Instructions: Prepare net income statement showing @ trend analysis for Mc. Co (10 marks)
Q5/ The following aré the summarized Profit and LosSS Alc and Balance Sheet of Zane
Ltd. |

Zane Lid.
Profit and Loses Alc
To Opening Stock 99,000 ‘\ By Sales 950,000
To Purchases 545,000 | By Closing Stock 150,000
To Freight Inward 16000 | By Gross Profit 440,000
To Gross Profit 440,000 l\ By Non-operating income

. |
To Operating Expenses 200,000 \ 60,000

To Loss on Sale of Asset 40,000
To Net Profit 260,000 |

7ane Ltd. Balance sheet information as follow :
Land and Building 150,000, Plant and Machinery 180.000,Stocks. 150,000 ,Debtors
45,000,Bills Receivable 5,000, Cash 60,000, Share Capital (200,000 shares of $1 par value)
200,000, Reserve and Surplus 260,000, Bill Payable 40,000, Other Current Liabilities 90,000
Instructions : Compute: Operating profit ratio; Net profit ratio; Return on capital employed
ratio: (EPS) , Quick ratio. (10 marks)
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colia . First Semester Subject: MA 1
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Note: Answer three questions, with the first question being part of the answer.
Olalenll 23S LlaY) 3505 e DY) e (e Ja¥1 Jlsedl 0550 o) e i G306 e oal Alada
Arbeall pansl )l
Q 1/ Choose the correct answer for 10 sentences:
1. Compared to financial accounting, managerial accounting places more emphasis on:

A) the flexibility of information. B) the precision of information.

C) the timeliness of information. D) both A and C above.
2. Indirect labor is a part of: ‘

A) Prime cost.  B) Conversion cost. C) Period cost. D) Nonmanufacturing cost.
3. Prime cost and conversion cost share what common element of total cost?

A) Direct materials. B) Direct labor. C) Variable overhead. D) Fixed overhead.
4. A cost incurred in the past that is not relevant to any current decision is classified as
a(n):
A) period cost.  B) opportunity cost. C) sunk cost. D) differential cost.
5. The term that refers to costs incurred in the past that are not relevant to a decision is:
A) marginal cost. B) indirect cost. C) period cost. D) sunk cost.
6. The break-even point in unit sales is found by dividing total fixed expenses by:

A) the contribution margin ratio. B) the variable expenses per unit.
C) the sales price per unit. D) the contribution margin per unit.
7. The determination of a cost as either direct or indirect depends upon the:
A) accounting system B) allocation system
C) cost tracing system D) cost object chosen
8. Budgeted costs are:
A) the costs incurred this year B) the costs incurred last year
C) planned or forecasted costs D) competitor's costs
9. Contribution margin equals:
A) revenues minus period costs B) revenues minus product costs
C) revenues minus variable costs D) revenues minus fixed costs
10.If unit outputs exceed thte breakeven point: -
A) there is a loss B) total sales revenue exceeds total costs

C) there is a profit D) Both total sales revenue exceeds total costs and there 1s a profit.
I1.Manufacturing overhead costs are also referred to as:
A) indirect manufacturing costs B) prime costs
C) period costs D) direct material
------------------------------------ ( 20 Marks)
2 2/ How much will a company's net operating income change if it undertakes an

advertising campaien given the followine data:




3

Cost of advertising campaign ............... $25,000

Variable expense as a percentage DL SIS vvisinensennens 42%
TNCTEASE 11 SALES .vvivvveererneersiissrennesneseesnessnsssessesasernsnnens $60,000
—————————————————— -- (15 Mark)

Q 3/ Assume the following cost information for Fernandez Company:
Selling price $120 per unit
Variable costs $80 per unit
Total fixed costs $80,000
Tax rate 40%
Required:
1. What is volume of sales dollars is required to earn an after-tax net income of $30,000?
2. What is the number of units that must be sold to earn an after-tax net income of $42,000?
---------------------------------------------------------------- (15 Mark)
Q 4/ Chesbrough, Inc., makes many of the components of its main product in-house. Recently,
Berham Electronics offered to supply one component, K-25, at a price of $6.50 each. Chesbrough
uses 20,000 units of component K-25 each year. The absorption cost per unit of this component is as
follows:

Direct materials $2.95
Direct labor 0.40
Variable overhead 1.80
Fixed overhead 4.00
Total . $9.15

The fixed overhead is an allocated expense; none of it would be eliminated if production of
component K-25 stopped.

Required

| What are the alternatives facing Chesbrough, Inc., with respect to production of
component K-257

7. List the relevant costs for each alternative. Suppose that Chesbrough, Inc., purchases K-25
from Berham Electronics. By how much will operating income

increase or decrease? |

(15 Mark)
/Hh my best wishes
Instructor ‘Head of Dept.

Dr. MOHANAD MOHAMED Dr. ELHAM AL-SHAWI
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Q 1// True or False
1- A favorable sales variance reflects an decrease in operating income.
2-When the actual market share is less than budget market share variance is unfavorable.
3-Sales quantity variance can be decomposed into market share variance and market size
variance.
4-In ABC, activity cost is assigned to resources.
5- ABCis generally more costly to implement than Traditional costing.
6- Because activities driver. The cost of resources used in operations, a company should
choose resource consumption cost drivers based on cause-and-effect.
7-In backflash costing , two trigger points purchase of direct material and incurring of
conversion cost (stage A) and completion goods finished of product (stage).
8- One of the elements of JIT is the reorganization of the plant within form a pools.
9-Cost incur for defective product after shipment to customers is classified as internal
failure cost.
10- Supplier evaluations is one element of Appraisal costs.
11- Quality is one that meets or exceeds customer expectation.
12- The split off point is where the joint products become separate and identifiable,
13- The product has low sales value compared with the sales value of the main product is
called joint product.
14- Split-off point is the point of processing at which the point products are separated as
individual product.
15- ABC system is less accurate product costing its provide less accurate and informative
product costs.

15 marks
Q 2// Choice the correct answer:
1- Market share variance result from a difference between the:
a- Actual and budgeted market size x budget market share x budget contribution margin
per unit.
b- Actual and budget market size x actual market share x budget contribution margin per
unit. ’
c- - Actual and budgeted market size x budget market share x budget contribution
margin.
d- Actual and budgeted market size x actual market share x budget contribution margin.
2- Sales mix variance equals the difference between:
a- Actual sales mix and budget sales mix x budget units sold for all product x budget
contribution margin per unit.




b- Actual sales mix and budget sales mix x budget units sold for all product x actual .
contribution margin per unit.

¢c- Actual sales mix and budget sales mix x actual units sold for all product x
budget contribution margin per unit.
d- Actual sales mix and budget sales mix x actual units sold for all product x
actual contribution margin per unit.
3- The static budget variance will be favorable when:
a- Actual unit sales are less than budgeted unit sales.
b- The actual contribution margin is greater than the static budget
contribution margin
c- The actual sales mix shift toward the less profitable unit.
d- the average contribution for the actual mix greater than for the budget mix.
4- Poskey Corporation uses an ABC system with three activity cost pools. The
company has provided the following data concerning its costs and its activity
based costing system:

Distribution of resources consumption

Activity cost pools

costs Assembly setting up other  total
wages and salaries  $400,000 40% 40% 20%  100%
Depreciation 160,000 20% 35% 45% 100%
Utilities 100,000 25% 55% 20% 100%

The total cost would be allocated in the first stage allocation to the Assembly activity cost
pool:

a- $187,000 b-$264,000 c-$217,000 d$165,000
5- The first stage of ABC entails the assignment of:
a- resource costs to department. b-activity costs to product.

c- resource costs to distribution channels.  d- resource costs to individual activities
6- Al Basrah company produce three kinds of hats: rain hat, dust hat, and snow hat. The
three products require 80,60, 180, setups. The budgeted machine setups cost are $384.
The amount of machine setups costs allocated to three products is:

a- $128, 5128, $128. b-$80, $60, $180. C-$96, $72, $216. d-$72, $128, $184.
7-Games company manufactures various gams. For March, there were no beginning
inventories of direct material and no beginning or ending work in process. Conversion
costs are the only indirect m'anufacturing cost category currently used. Journal entries are
recorded when materials are purchased and when conversion costs are allocated under
backflush costing. Conversion costs March $400, Direct material purchased Marsh $1070,
Units produced March 58,800, units sold 41,800, the journal entries properly records the
purchase of direct material is:

a- A/P control 1070 b- Material and in process control 1070

Material and in process control 1070 A/p control 1070

AN




c- Material and in process control 1070 d- conversion costs 1070
conversion costs 1070 material and in process control 1070

- 8- In backflash costing, alternative 3, the journal entry of completion of
finished units is:

a- by finished goods control b- by finished goods control
To standard conversion cost allocated direct material
work in process control
c-by finished goods control d-by finished goods control
To accounts payable To, work in process control

Standard conversion cost allocated

9- A company adopted a JIT system for:

a- Avoids a buildup of parts and inventory.

b- provides an accurate cost allocation.

c- Replaces direct allocation method of assigning overhead cost.

d-Is based on a demand push theory.

10- Cost incur for defective products before their shipment to customers can be
categorized as:

a- prevention costs. b- External failure costs.

c-Appraisal costs. d- internal failure costs.

11- An example of appraisal costs is:

a- product inspection. b-process engineering. C-Rework d- warranty repair

12- Money spent on employee trainingisa:

a- Empowerment cost.  b- Appraisal cost. c-prevention cost. d-pareto cost

13-Al shams company produce two product x and y in a single joint process . last month
the joint costs were $75,000 when 10,000 units of product x and 15,000 units of product y
were produced, additional processing costs were $15,000 for product x and $10,000 for
product y, product x sells for $10, and product y sells for $5. The joint cost allocated to
product x and y using the physical units method would be:

a- $42,500: $32,500. b-$30,000:45,000.

C-$45,000: $30,000. d-Another answer.

14- When a joint production process yields two or more products with

high total sales values, these products are called:

a- main product. b-scrap. C-byproducts. d- Joint product.

15- All costs incurred after the split-off point that are assignable to one

or more individual produets are called:

a-Separable costs.  b- byproduct costs. c- main costs. d- joint costs.

15 marks

Answer 2 of the following:
Q3// Kardlan company manufactures two types of soap, Budgeted and
actual operating data for 2022 are as follows :

~Y‘~




Budget data

- Selling price per units Variable cost per units Units sold
Normal soaps $20 $12 10,000
Luxury soaps $40 S30 5,000

Actual data:

Selling price per units | Variable cost per units | Units sold

Normal soaps $19 $10 12,000

Luxury soaps S42 S35 4,000

The company estimated budget market size of 50,000 units and budget market share of 30%. The
actual market size is 64,000 units and actual market share is 25%
Required: Compute all sales variance.

10 marks
Q 4//: Jardon company cleaning Brigade company provides housecleaning services to its clients.
The company uses an activity-based costing system for its overhead costs. the company has
provided data from its ABC costing system

Activity cost pool Total cost Total Activity
Cleaning $274,170 48,100 hours
Job support $99,066 5,700 jobs
Client support $9,796 620 clients
Other $110,000 Not applicable

The other activity cost pool consists of the costs of idle capacity and organization sustaining
costs. One particular client, the Lazzara family requested 37 jobs during the year that required a
total of 222 hours of housecleaning. For this service, the client was charged $2,350.
Required: (a) using the ABC costing system compute the customer margin for the Lazzara family .

(b) Assume the compary decides instead to use a traditional costing system in which
all costs are allocated to customers on the basis of cleaning hours. Compute the margin for the
Lazzara family.

10 marks

Q 5// Al Messar company produce and sells watches. The following data is pertaining to cost of
quality in two years:

Details 2020(in$) 2021(in$)
sales 3,920,000 3,520,000
Cost of quality:
Scrap 28,800 30,100
Warranty repair 70,000 75,000
Repair of returned product units | 272,000 195,000
Preventive maintenance 220,000 152,000
Incoming material testing v 105,000 75,000
Product inspection 150,000 150,000

Required: Compute cost of quality as a percentage of sales for each of the two years.

10 marks
‘//:’_—2?,3 Good luck il
A.P.D.Elaham J. Hame A.P. Fayhaa.A” Mahmmod

Head of Department Lecturer
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Q 1/ Crash Dobson, former all-state high school football player, owns a retail store that sells
new and used sporting equipment. Crash has requested a cash budget for October. After
examining the records of the company, you find the following:
a. Cash balance on October 1 is $1,980.
b. Actual sales for August and September are as follows:

August September
Cash sales $15,000 $ 20,000
Credit sales 80,000 90,000
Total sales $95,000 $110,000

c. Credit sales are collected over a three-month period: 50 percent in the month of sale, 30
percent in the second month, and 15 percent in the third month. The remaining sales are
uncollectible.

d. Inventory purchases average 70 percent of a month’s total sales. Of those purchases, 40
percent are paid for in the month of purchase. The remaining 60 percent are paid for in the
following month. :

e. Salaries and wages total $2,000 per month.

£ Rent is $2,700 per month.

g. Taxes to be paid in October are $5,000.

h. Crash usually withdraws $4,000 each month as his salary.

i Advertising is $500 per month.

j. Other operating expenses total $800 per month.

Crash tells you that he expects cash sales of $10,000 and credit sales of $65,000 for October.
He likes to have $2,000 on hand at the end of the month and is concerned about the potential
October ending balance. :

Required: Prepare a cash budget for October. Include supporting schedules for cash
collections and cash payments.

—————————————————————————————————————— ( 20 Marks)

Q 2/ Weber Company produces floor mats used in gyms and dojos. The sales budget for four
months of the year is as follows:

Unit Sales Dollar Sales
April 12,000 $ 288,000
May 50,000 1,200,000
June 30,000 720,000

July 28,000 672,000




’ ?

Comipa_ny policy requires that ending inventories for each month be 15 percent of next
month’s“,sig-les. At the beginning of April, the beginning inventory of mats met that policy.
Required:'{'x

Prepare a production budget for the second quarter of the year. Show the number of units
that should be produced each month as well as for the quarter in total.

-- - - -(15 Mark)

Q 3/ (Ignore income taxes in this problem.) Mercer Corporation is considering replacing a
technologically obsolete machine with a new state-of-the-art numerically controlled
machine. The new machine would cost $250,000 and would have a ten-year useful

life. Unfortunately, the new machine would have no salvage value. The new machine

would cost $12,000 per year to operate and maintain, but would save $55,000 per year

in labor and other costs. The old machine can be sold now for scrap for $10,000. What is the
closest rate of return on the new machine?

e —— (15 Mark)

Q 4/ (Ignore income taxes in this problem.) Major Corporation is considering the purchase
of a new machine for $5,000. The machine has an estimated useful life of 5 years and
no salvage value. The machine will increase Major's cash flows by $2,000 annually
for 5 vyears. Major uses straight-line depreciation. The company's required rate of
return is 10%. What is the payback period for the machine?
---------------------------------------- (15 Mark)

With my best wishes

In structor

Dr. MOHANAD MOHAMED

Dr. ELHAM AL-SHAWI
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Q 1// True or False
1- A favorable sales variance reflects an decrease in operating income.
2-When the actual market share is less than budget market share variance is unfavorable.
3-Sales quantity variance can be decomposed into market share variance and market size
variance.
4-In ABC, activity cost is assigned to resources.
5- ABC is generally more costly to implement than Traditional costing.
6- Because activities driver. The cost of resources used in operations, a company should
choose resource consumption cost drivers based on cause-and-effect.
7-In backflash costing , two trigger points purchase of direct material and incurring of
conversion cost (stage A) and completion goods finished of product (stage).
8- One of the elements of JIT is the reorganization of the plant within form a pools.
9-Cost incur for defective product after shipment to customers is classified as internal
failure cost.
10- Supplier evaluations is one element of Appraisal costs.
11- Quality is one that meets or exceeds customer expectation.
12- The split off point is where the joint products become separate and identifiable,
13- The product has low sales value compared with the sales value of the main product is
called joint product.
14- Split-off point is the point of processing at which the point products are separated as
individual product.
15- ABC system is less accurate product costing its provide less accurate and informative
product costs.

15 marks
Q 2// Choice the correct answer:
1- Market share variance result from a difference between the:
a- Actual and budgeted market size x budget market share x budget contribution margin
per unit.
b- Actual and budget market size x actual market share x budget contribution margin per
unit. ’ _
c- - Actual and budgeted market size x budget market share x budget contribution
margin.
d- Actual and budgeted market size x actual market share x budget contribution margin.
2- Sales mix variance equals the difference between:
a- Actual sales mix and budget sales mix x budget units sold for all product x budget
contribution margin per unit.




b- Actual sales mix and budget sales mix x budget units soid for all product x actual
contribution margin per unit.

c- Actual sales mix and budget sales mix x actual units sold for all product x
budget contribution margin per unit.
d- Actual sales mix and budget sales mix x actual units sold for all product x
actual contribution margin per unit.
3- The static budget variance will be favorable when:
a- Actual unit sales are less than budgeted unit sales.
b- The actual contribution margin is greater than the static budget
contribution margin
¢- The actual sales mix shift toward the less profitable unit.
d- the average contribution for the actual mix greater than for the budget mix.
4- Poskey Corporation uses an ABC system with three activity cost pools. The
company has provided the following data concerning its costs and its activity
based costing system:

Distribution of resources consumption

Activity cost pools

costs Assembly setting up other  total
wages and salaries $400,000 40% 40% 20% 100%
Depreciation 160,000 20% 35% 45% 100%
Utilities 100,000 25% 55% 20% 100%

The total cost would be allocated in the first stage allocation to the Assembly activity cost
pool:

a- $187,000 b-$264,000 c-$217,000 d$165,000
5- The first stage of ABC entails the assignment of:
a- resource costs to department. b-activity costs to product.

C- resource costs to distribution channels.  d- resource costs to individual activities
6- Al Basrah company produce three kinds of hats: rain hat, dust hat, and snow hat. The
three products require 80,60, 180, setups. The budgeted machine setups cost are $384.
The amount of machine setups costs allocated to three products is:

a- $128, $128, $128. b-$80, $60, $180. C-$96, $72, $216. d-$72, $128, $184.
7-Games company manufactures various gams. For March, there were no beginning
inventories of direct material and no beginning or ending work in process. Conversion
costs are the only indirect manufacturlng cost category currently used. Journal entrles are
recorded when materials are purchased and when conversion costs are allocated under
backflush costing. Conversion costs March $400, Direct material purchased Marsh $1070,
Units produced March 58,800, units sold 41,800, the journal entries properly records the
purchase of direct material is:
a- A/P control 1070 b- Material and in process control 1070

Material and in process control 1070 A/p control 1070

~ N




c- Material and in process control 1070 d- conversion costs 1070
conversion costs 1070 material and in process control 1070

8- In backflash costing, alternative 3, the journal entry of completion of
finished units is:

a- by finished goods control b- by finished goods control
To standard conversion cost allocated direct material
work in process control
c-by finished goods control d-by finished goods control
To accounts payable To, work in process control

Standard conversion cost allocated

9- A company adopted a JIT system for:

a- Avoids a buildup of parts and inventory.

b- provides an accurate cost allocation.

c- Replaces direct allocation method of assigning overhead cost.

d-Is based on a demand push theory.

10- Cost incur for defective products before their shipment to customers can be
categorized as:

a- prevention costs. b- External failure costs.

c-Appraisal costs. d- internal failure costs.

11- An example of appraisal costs is:

a- product inspection. b-process engineering. C-Rework d- warranty repair

12- Money spent on employee trainingisa:

a- Empowerment cost.  b- Appraisal cost. c-prevention cost. d-pareto cost

13-Al shams company produce two product x and y in a single joint process . last month
the joint costs were $75,000 when 10,000 units of product x and 15,000 units of product y
were produced, additional processing costs were $15,000 for product x and $10,000 for
product y, product x sells for $10, and product y sells for $5. The joint cost allocated to
product x and y using the physical units method would be:

a- $42,500: $32,500. b-$30,000:45,000.

C-$45,000: $30,000. d-Another answer.

14- When a joint production process yields two or more products with

high total sales values, these products are called:

a- main product. b-scrap. C-byproducts. d- Joint product.

15- All costs incurred after the split-off point that are assignable to one

or more individual products are called:

a-Separable costs.  b- byproduct costs. c- main costs. d- joint costs.

15 marks

Answer 2 of the following:
Q3// Kardlan company manufactures two types of soap, Budgeted and
actual operating data for 2022 are as follows :

NY‘N




Budget'data

Selling price per units Variable cost per units Units sold
Normal soaps $20 $12 10,000
Luxury soaps $40 S30 5,000

Actual data:

Selling price per units | Variable cost per units | Units sold

Normal soaps $19 $10 12,000

Luxury soaps $42 $35 4,000

The company estimated budget market size of 50,000 units and budget market share of 30%. The
actual market size is 64,000 units and actual market share is 25%
Required: Compute all sales variance.

10 marks
Q 4//: Jardon company cleaning Brigade company provides housecleaning services to its clients.
The company uses an activity-based costing system for its overhead costs. the company has
provided data from its ABC costing system

Activity cost pool Total cost Total Activity
Cleaning $274,170 48,100 hours
Job support $99,066 5,700 jobs
Client support $9,796 620 clients
Other $110,000 Not applicable

The other activity cost pool consists of the costs of idle capacity and organization sustaining
costs. One particular client, the Lazzara family requested 37 jobs during the year that required a
total of 222 hours of housecleaning. For this service, the client was charged $2,350.
Required: (a) using the ABC costing system compute the customer margin for the Lazzara family .

(b) Assume the company decides instead to use a traditional costing system in which
all costs are allocated to customers on the basis of cleaning hours. Compute the margin for the
Lazzara family.

10 marks

Q 5// Al Messar company produce and sells watches. The following data is pertaining to cost of
quality in two years:

Details 2020(in$S) 2021(in$)
sales 3,920,000 3,520,000
Cost of quality:
Scrap 28,800 30,100
Warranty repair 70,000 75,000
Repair of returned product units | 272,000 195,000
Preventive maintenance 220,000 152,000
Incoming material testing * | 105,000 75,000
Product inspection 150,000 150,000

Required: Compute cost of quality as a percentage of sales for each of the two years.
10 marks

Good luck v
A.P.D.Elaham J. Hame A.P. Fayhaa.A. Mahmmod
Head of Department Lecturer
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